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1. Explain why each of the following are NOT in scientific notation:
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2. Write each of the following in scientific notation:
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3. Write each of the following in standard notation.

Move decimol 3 Place: r.‘,h"'

b. 2.11x10*

Mavc cledm' 4 pl.w r:,h+

. 00080LL:3% 5 006134
Maove Jeclmof q |o|ace; lefF+t

21000800

00§, 62
0090009951 (0. 00099951)
1,44999990 (1 0a0000

OO.@/ZIS



Scientific Notation Practice Name:

4. Simplify, write answer in scientific notation if it is greater than 1000, or less than 0.01 and standard
notation otherwise. f
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5. Ineach line circle the largest number

5.3 x 1019 5.3 x 1015
F extofmen"L}
are the Some
. b. 1.3 x 102 6.3 x 1024
\
] ] +

' 6.3 x107° 6.3 x 10716

I‘P extome.'})'
are. diffee~t
6!7/0 S‘IL e x ?0/\(/\*
s [a:/a/eﬂ‘ i

Fo;.-{.ve.

| The \/‘vme ne/mJ,‘V("
] nc’/nliue
Ql(rmmf Jhe

Smoller +he
nv~ber

2.8x1073 2.7%x 1073

e. 7.9x10 9.8 x 1012

6. Write three different numbers between 5 X 10° and 5 x 107
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Problems 8-10 taken from Janice McGovern at King Phillips Regional Middle School)

Give answers in scientific notation if they are below 0.01 or above 1000 and in standard form otherwise.

8. InJune 2016, Snapchat had 1.52 x 108 daily active users. Twitter had 1.41 x 108 daily active users. How
many more people were actively using Snapchat than Twitter in June 2016?
[ s g
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9. The biggest bowl of mashed potatoes ever made weighed 4.56 x 10* pounds and was created at the lowa
State Fair in 2005. The biggest deep dish pizza ever made was in Chicago in 1998. It weighed a whopping
1.23 x 10° pounds. How many more pounds did the pizza weigh than the bowl of mashed potatoes?
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10. The state of Colorado covers about 1.04 x 10° square miles. The Indian Ocean covers about 2.808 x 107
square miles. How many times bigger than Colorado is the Indian Ocean?
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11. The half-life of uranium-238 is 4.5 x 10° years. The half-life of uranium-234 is 2.5 x 10° years. How many
times greater is the half-life of uranium-238 than that of uranium-234?
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12. The mass of a hydrogen atom is approximately 1.67 x 10724 grams. The mass of an oxygen atom is
approximately 2.66 X 1072* grams. There are 6.69 x 10%* water molecules (which each consist of 2

hydrogen and 1 oxygen atoms) in a glass of water. Based on this, how much will the water in the glass
weigh?
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13. The Earth is approximately 4.5 billion years old. There are 3.1536 x 107 seconds in a year. How old is the
Earth in seconds?

15 billion = 4.5x10
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